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Power−Adjusted ROIs by ICV

Supplementary	
  
Figure	
  2A	
  to	
  AB:	
  
Each	
  panel	
  (A	
  
through	
  AB)	
  shows	
  
the	
  power-­‐adjusted,	
  
standardized	
  ROI	
  on	
  
the	
  y-­‐axis	
  as	
  a	
  
func,on	
  of	
  
standardized	
  ICV	
  on	
  
the	
  x-­‐axis.	
  Individual	
  
observa,ons	
  are	
  
shown	
  as	
  circles	
  and	
  
the	
  regression	
  line	
  
with	
  confidence	
  
limits.	
  All	
  regression	
  
lines	
  are	
  horizontal,	
  
illustra,ng	
  effec,ve	
  
de-­‐trending	
  of	
  ICV.	
  
pp	
  =	
  power-­‐
propor,on	
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